
LUX439

LUX437

LUX447

LUX536

SHK138

OM9005
(DOW33 GREASE)

SSC010 (2x)
(BLUE LOCTITE 242)

LUX440

PIN005 (2x)

MAG004 MAG004

OU9005 - AS005 urethane 70 durometer
SSC010 - 10-32 x 5/16 socket cap head stainless
PIN005 - .190 X.059 steel pin
MAG004 - 3/16 O.D. x .060 neodymium magnet
                                               zinc plated grade 50

LUXE X ASA ASM GUIDE GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.



BOLT INTERNALS ASM

LATCH ASM

MANIFOLD ASM

CFN ASM

VSN 
COVER 
ASM
RIGHT

VSN COVER 
ASM LEFT

MAG004(2x)

MAG004 (3x)

LUX419
SSC015

REG ASM

LUX443
W/OM9015

OM7017

LUX501

OB7M23
(21 X 2MM)

SSS011 (2x)
LOCTITE 
271 RED

LUX505

STK019
SOS002
LOCTITE 242 BLUE

SOS005
LOCTITE 
271 RED

SOS007 (2x)
BLUE LOCTITE 242

LUX553

MAG001 (4x)
(MUST USE FIXTURE TO 
NOT BREAK THRU BODY)

SOS007 - 5-44 x 1/4 socket set screw black oxide
SSS011 - 10-32 x 1/4 socket set screw stainless
SSC015 - 2-56 x .125 socket cap head stainless
MAG004 - 3/16 O.D. x .060 neodymium magnet zinc plated grade 50
MAG001 - .100 O.D. x .100 neodymium magnet zinc plated grade 50
SOS005 - 10-32 x 3/16 socket set screw black oxide
SOS002 - 10-32 x 1/8 socket set screw black oxide
OB7M23 - 21 X 2 MM buna 70 durometer
OM7017 - AS017 urethane 70 dureometer
OM9015 - AS015 urethane 90 dureometer

SOS007 SET SCREWS NEED ADJUSTED 
WHILE TEST FITTING THE TRIGGER 
FRAME. TO ENSURE THE PIN OPERATES 
SMOOTHLY. ALSO MUST PULL DOWN 
ON FRONT OF FRAME TO ENSURE 
LUX553 IS NOT TOO LOOSE AND EYES 
DO NOT BECOME DISCONNECTED 

LUX501.1

LUXE X BODY ASM GUIDE GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.



LUX541

OB9013

VRG204.1

VRG206
VRG204.2

OU7008

SPR030

VRG405

OU7014

OU7010

OU7016 (2x)

(BLUE LOCTITE 242)

OU7016 - AS016 urethane 70 dureometer
OB9013 - AS013 buna 90 dureometer
OU7010 - AS010 urethane 70 dureometer
OU7008 - AS008 urethane 70 dureometer
OU7014 - AS014 urethane 70 dureometer

LUXE X REG ASM GUIDE GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.



APPLY BLUE LOCTITE 242 TO ALL SCREWS1.
           (4x) AND INSERT INTO TRIGGER

SLIDE TRIGGER ONTO FIXTURE2.
TIGHTEN SCREW A3.
TIGHTEN SCREWS B AND C(2x)4.
LOOSEN B AND C SCREWS 180°5.
LOOSEN SCREW A ENOUGH FOR STEP 76.
REMOVE FROM FIXTURE7.
TIGHTEN SCREW A ONE FULL TURN8.

LUXE X TRIGGER ASM GUIDE GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.



OB7018

OB7018
OB7018
(INTERNAL)

OB7018
(INTERNAL)

OB7018
(INTERNAL)

FRKBXL30LUX

FRKIXL687

FRKFXL09LUX

OB7018 - AS018 buna 70 dureometer

LUXE X BARREL ASM GUIDE GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.



LUX410

LUX565

PIN006

QLK104

QLK106

LUX562

QLK405

PIN006 - 3/32 X .375" steel pin

LUXE X CFN ASM GUIDE GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.



LUX560

LUX544
(BLUE 
LOCTITE 242)

LUX129(BLUE 
LOCTITE 242)

LUX527
W/ OB7M04
(3 X 1MM) (2x)

LUX508

LUX502

LUX530

STK020

LUX526.2

LUX525

LUX128
(BLUE 
LOCTITE 242)SSC018

(BLUE 
LOCTITE 242)

SSC018 (2x)
(RED LOCTITE 271)

LUX561

LUX509

LUX526.1

LUX559.2

LUX559.1

OM7020

OU7015

OU7012
OU7012

OB7008

OU7010

OU9007

OU7015

OU7016

OU7014

OU7013

OB7M15
(1.5 X 1MM)

OU7013

OU7016

OU7013

OU7015

OU7017

OM7020

BAL002 (12x)

OB7M26
(21 X 1MM)

OU7010

SPR041

ENSURE ASSEMBLED PARTS 
MEASURE WITHIN THIS DIMENSION

(BLUE LOCTITE 242)

OB7018

OU9013

OU7017

4.770±.005
121.16±0.13

OU7012 - AS012 urethane 70 dureometer
OB7M15 - 1.5 x 1MM buna 70 dureometer
OM7020 - AS020 urethane 70 dureometer
OU7016 - AS016 urethane 70 dureometer
OB7008 - AS007 buna 70 dureometer
OU7010 - AS010 urethane 70 dureometer
OU9007 - AS007 urethane 90 dureometer
OB7M26 - 21 x 1MM buna 70 dureometer
OU7014 - AS014 urethane 70 dureometer
OU7013 - AS013 urethane 70 dureometer
OU7015 - AS015 urethane 70 dureometer
OU7017 - AS017 urethane 70 dureometer
OM7020 - AS020 urethane 70 dureometer
OB7018 - AS018 buna 70 dureometer

LUXE X INTERNALS ASM GUIDE GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.



PIN027

PIN028 (2x)

LUX558

LUX556

LUX556

LUX557

MAG006 (4x)

BAL003 (2x)
(BEHIND
MAGNET)

BAL003
(IN FROM 
BOTTOM)

PIN027 AND PIN028 (2x) 
SHOULD BE SLIGHTLY 
CRIMPED ON ONE END TO 
ENSURE THEY DO NOT FALL 
OUT OF THE ASSEMBLY

MAG006 - 2mm O.D. x 2.5mm neodymium magnet zinc plated grade 50
BAL003 - .062" buna ball
PIN028 - 20mm x 2mm steel pin
PIN027 - 16mm x 2mm steel pin

LUXE X LATCH ASM GUIDE GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.



LUX515

SSC002 (2x)

OB7M03 (2x)
(2.5 X 1 MM)

OB7M02 (2x)
(2 X 1 MM)

OB7M02
(2 X 1 MM)

SOS005
RED LOCTITE 271

SSB005

SOL304

OB7M03
(2.5 X 1 MM)

LUX517.5
(MUST BE SLID 
ONTO PINS 
AND SOLDERED 
IN PLACE)

FLT003 (2x)

ENSURE 
CORRECT VALVE 
POSITION ONCE 
ASSEMBLED

VALVE SHOULD BE 
MOUNTED FLUSH IN 
THESE LOCATIONS

SSB005 - 4-40 x 1/4 button head screw stainless
SSC002 - m1.6 - .35 x 17mm cap head screw stainless
SOS005 - 10-32 x 3/16 socket set screw black oxide
OB7M03 - 2.5 X 1 MM buna 70 durometer
OB7M02 - 2 X 1 MM buna 70 durometer

LUXE X MANIFOLD ASM GUIDE GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.



BRG002 (2x)

SOS007 (2x)
BLUE LOCTITE 242

SOS007 (2x)
BLUE LOCTITE 242

LUX507

MUST INSERT BEARINGS 
FROM THIS SIDE

SOS007 - 5-44 x 1/4 socket set screw black oxide
BRG002 - 1/4 diameter x .109" wide (.140" inner race)
                            stainless roller bearing ABEC 3

LUXE X TRIGGER ASM GUIDE
GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.



ASA ASM

LUX522

LUX550.1

LUX551 
(2x)

LUX431

LUX332

OB7M18
(1.5 X 0.8MM)

LUX506

LUX555
(BLUE LOCTITE 242)
(DEPTH SHOULD BE ADJUSTED 
BY TESTING WITH BODY LATCH)

LUX507 ASM
PIN024
W/OB7M03
(2.5 X 1MM)

OM9M01
(4 X 1MM)

LUX418
SSC015

LUX519

LUX517.1

LUX551 (2x)

LUX516

SCR201

SSB009

BAT003

LUX552

SSC017
(BLUE 
LOCTITE 
242)

LUX554

BAL001 (2x)

SPR007

SOS003
(BLUE LOCTITE 242)

BAL001

SOS003
(BLUE 
LOCTITE 242)

SPR007FLT004

OU9007

OB7M25
(3.48 X 0.76MM)

LUX564 
(USE ONLY
LOCTITE 
5452 RED)

OB7M03 (2x)
(2.5 X 1MM)
(2x ON REVERSE SIDE)

STICK BUMPER TO 
BAORD IN THIS 
LOCATION

ENSURE PINS ARE FULLY 
SEATED AND THE TABS 
ARE SPREAD BY USING 
A PICK TO SPREAD 
THEM AFTER INSERTED

ENSURE 
BOARD IS 
SEATED FLUSH 
WITH FRAME 
TAB HERE

LUX594

OB7M03 - 2.5 X 1 MM buna 70 durometer
OM9M01 - 4 X 1 MM urethane 90 durometer
OB7M25 - 3.48 X 0.76 MM buna 70 durometer
SSC015 - 2-56 x .125 socket cap head stainless
SSC017 - 2-56 x .313 socket cap head stainless
SOS003 - 4-48 X .188 socket set screw stainless
BAL001 - 2mm stainless steel ball
SSB009 -  6-32 X .250 button head stainless
OM9007 - AS007 urethane 90 dureometer
OB7M18 - 1.5 X 0.8 MM buna 70 durometer

LUXE X TRIGGER FRAME ASM GUIDE GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.



LUX512 (LEFT)
LUX513 (RIGHT)

LUX503X (LEFT)
LUX504X (RIGHT)

PIN011

MAG001 (2x)

SPR014

SPR036

LUX511
(ORANGE COLOR)

MAG001 - .100 O.D. x .100 neodymium magnet
                                        zinc plated grade 50

LUXE X VSN COVER ASM GUIDE GOG PAINTBALL S.A.
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
GOG PAINTBALL S.A. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE

WRITTEN PERMISSION OF GOG PAINTBALL S.A. IS PROHIBITED.


	LUXE 5.0 ASA ASM GUIDE
	LUXE X ASA ASM GUID
	Drawing View9


	LUXE 5.0 BODY ASM
	LUXE X BODY ASM GUIDE
	Drawing View1
	Drawing View3


	LUXE 5.0 REG ASM GUIDE
	LUXE X REG ASM GUIDE
	Drawing View14


	LUXE 5.0 TRIGGER ASM GUIDE
	LUXE X TRIGGER ASM GUIDE
	Drawing View13


	xLUXE 5.0 BARREL ASM GUIDE
	LUXE X BARREL ASM GUIDE
	Drawing View9


	xLUXE 5.0 CFN ASM GUIDE
	LUXE X CFN ASM GUIDE
	Drawing View11


	xLUXE 5.0 INTERNALS ASM GUIDE
	LUXE X INTERNALS ASM GUIDE
	Drawing View11
	Drawing View12


	xLUXE 5.0 LATCH ASM
	LUXE X LATCH ASM GUIDE
	Drawing View9


	xLUXE 5.0 MANIFOLD ASM
	LUXE X MANIFOLD ASM GUIDE
	Drawing View9
	Drawing View10


	xLUXE 5.0 TRIGGER ASM
	LUXE X TRIGGER ASM GUIDE
	Drawing View9
	Drawing View10


	xLUXE 5.0 TRIGGER FRAME ASM GUIDE
	LUXE X TRIGGER FRAME ASM GUIDE
	Drawing View10


	xLUXE 5.0 VSN COVER ASM GUIDE
	LUXE X VSN COVER ASM GUIDE
	Drawing View11



